SUPPLEMENTARY notes(CAMBEROS-MADALA-MUZZIO)

(1) Im-2% = fg with m o 16+ balan hand
Im .2&*= weak
Im -3m = weak

Im 2m = nat

2) Im- 1M
Int Doble check back

2% = trfto ¢ to sign off or inv.
2¢ = ? supp in M with good hand
or FG any hand
2nt = trfto & to pass or to show
Hand with strong 5/5 .
24 =5-4 inv.
jumps = Inv. 5/5

(3) 2¥ 2ntasklike ogust nv could be 0
3& Trf al sup
36 =&
3¥ barrage.

24 2nt asklike ogust nv could be 0
3&/¢ trfal sup
3v=&
34 Dbarrage

4) IM  2st =jacoby

3& = 15+ with 1 short suit 3¢ ? LMH
3¢ = 11/14 same 3v? LMH

3¥ = 15+ no short suit

34 = 12 14 same

3nt = bad hand no short suit

44/4/0M = five cards

LMH = Low-Med-High

(5) 2& 24=0a4 286 26

2¢=5a9 2¥ = nat or hand with m o mm no H
2v = 8+ with & 5 cards.
2nt= 8 + with & 5 cards. ;: 22; — ask
34 = 8 + with ¢ 5 cards. n= 1or ;fn
3¢ = 8+ with ¥ 5 cards. 38 ask

e e 3¢ = onlyd

3& = &+ other 347 3¥ = 5/6 clubs + 4 diamond

3v/4 = &+ this suit 5/6 - 4
3nt = &+ ¢ 5/5

286 2¢

3¢ = ¢+ M 3v?
3a= &

3Nt= %

34=5/6d -4clubs
3nt = only & 6+

10) IM 1(#)or IN
24 GAZZILLI nat or strong hand
2¢ =8+ others 5to7
2M = nat 5-4 or5332
Others 17+
When responder bid 2 ¢ are FG




(6) 1M Int (7) inour Weak 2 or 3 preemtives.
2nt 3% =relay We use another rkcd
3M = limit 4% ?  rked 4¢ = O ke
3x = weak and natural suit 4v = l ke
44 = 1 kc withQ
IM Int 4st = 2 ke
2nt 3% S5#& = 2kc withQ
3¢=6and 4 e
3v=6and4 &
3a= 5and 5 & Ghestem modified :
3nt=5and 5 ¢ 12 22 :eye
2¢: M
2NT: ¢y©
IM Int
3x = five cards n forcing 1¢ 2¢: M
3M = inv INT :&y®
3nt =bad suit 6 cards . 3h:dya
1v le v 2v:a ya&
2nt = same 2NT: minors
3: aye
la 246 :vya&
2NT: minors
3% 4y©Y
9) 2nt 3% 2nt 34 = trfto 3nt
3¢ =oneor2M 3nt pass =nat
Them 3M = oM 4a=trfto ¢
3= noM 4¢ = 5/5inm slam try
3a=75 cards 49=135 ¢ /4% slam try
3N=5cardsin ¥ 44= 64/4& game
4nt=15/5 inv
2nt 3¢ S&=5/5 game
3v 3&= Trfto 3N 2nt 3N =trfto &
3N =5v/44 4%= 4 e=kc
48 = 6Y/44 49=4 ¢/5% slam try
4¢ = trfto 4v 44= 44/68 game
4¥=5%/5m weak 4N = cuantit with 6 clubs
4nt = 5v/44 inv
(11) Int 24 trf to When our opp overcall
2n/3% now any LMH short 1% 1¢ db=¢v
. lv=a
INT 2NT ¢ invo+ no short
l4a=no M
INT 3% = ¢ soff orF with any short Im 1% db= 4 or more spades.
Im 1¥ 14 = no spade
When we bid a M and opp db we play one
under
When we response 1M and opp bid we use
supp db.




